M8x55mm

M8x35mm

INSTRUCTION

M8x55mm

M8x55mm

M8x55mm

(MODEL:SM-R048S)

cc%. g

1SO 14001:2004

C€ @

Parts list

8W

15W / 20W

30W/40W/50W
60W/80W

Lamp

1pcs

1pcs

Brace

1pcs

1pcs

Hoops

1pcs

4pcs

Brace
Rod

1pcs

Screws

M8x55 4pcs

M8x35 4pcs
M8x55 4sets

M8x35 6pcs
M8x55 10sets

Remote
Control

1pcs

1pcs

Lamp body assembly

1. Assemble brace

Fasten with M8x35 screws
2. Assemble brace rod &hoops
Fasten with M8x55 screws

3. Use the remote control to turn on the lamp
When the lamp goes through long distance trans-
portation,it will turn to sleep mode automatically.

IF the battery is full power (indicator light on),
Turn on it by remote controller.

Warning: Before installation , please point the
remote controller to the sensor and press *’ON’
button,ensure the lamp in working state.

IF the battery is low power (indicator light off),
When the solar light is charged, it can automatically
exit the sleep mode, and turn to the normal mode.

Product installation

Fixing the lamp body with hoops
Fasten with M8x55 screws

Debugging & Maintenance

Common
faults

Possible
causes

Maintenance
methods

Lighting not
working

Ambient light
is too strong

Lamp has light sensor,if there is
strong light on the solar panel,the|
light source will not light up,

Light source
damage

Replacement light
source

Overdischarge
protection of
lithium battery

When sunny day,
the battery can
be recovered
after charging

Controller damage

Replacement controller

Inappropriate
time lighting on

Solar panel
are blocked

Clean the solar panel

The street lamp adopts integral modular design, easy to
assemble and disassemble. Please apply to the manufa-
cturer for disassembly and assembly video.

ADD: NO. 2, ZHIAN NORTH ROAD, JUNAN TOWN, SHUNDE AREA,FOSHAN CITY,GUANGDONG PROVINCE, CHINA
TEL: 0086 - 757 — 28683578 /28683579 FAX: 0086 — 757 — 28683587 / 22118639
Website: www.suiminglighting.com E-mail: suiming@vip.163.com or suiming02@vip.163.com




